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QUESTION 1

In a 3-Tier Data Center design without virtualization, which statement most closely defines the architecture of network
services?

A. Network services such as NAT and firewalls are typically distributed throughout the access layer.

B. Network services such as routing and firewalls are typically deployed at the L2/L3 boundary.

C. Network services such as NAT and firewalls are typically deployed in-line with the applications.

D. Network QoS services such as classification and marking are performed by software in the compute nodes.

Correct Answer: B

QUESTION 2

If a Security Group is the Source for a General Logical Firewall Rule, which Virtual Machines will be affected by the
rule?

A. Each Virtual Machine defined in the Security Group.

B. Each Virtual Machine defined in the Source and Destination fields of the Logical Firewall Rule.
C. Each Virtual Machine identified in the Applied To field of the Logical Firewall Rule.

D. Each Virtual Machine identified in the Destination field of the Logical Firewall Rule.

Correct Answer: C

QUESTION 3

Which two statements are true regarding NSX? (Choose two.)

A. Workloads can be placed and moved independently of physical topology.

B. Operational efficiency can be achieved through automation of the physical network.
C. Workload deployments are non-disruptive over the existing physical network.

D. NSX implementation requires a VMware vSphere environment.

Correct Answer: AC

QUESTION 4

-- Exhibit
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role port listening open conns

persistence server server/2878 =
client/2888 Y
election/3688 Y

switch manager ovsmgmt /6632 Y
openflow/6633 Y
system clustex /7777 ¥

-- Exhibit -An administrator is troubleshooting a NSX controller cluster issue and runs the control-cluster command:

What information can be determined from the output provided in the exhibit?
A. This is the control cluster majority leader controller

B. There are two controllers in the cluster

C. This is not the control cluster majority leader controller

D. The persistence_server role is not functioning correctly

Correct Answer: C

QUESTION 5

How many syslog servers can be configured for an NSX Edge device?
Al

B.2

C.3

D.4

Correct Answer: B

QUESTION 6
Which is not a valid Destination option for a General Logical Firewall rule?
A. Datacenter
B. Virtual App

C. MAC Set
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D. Network

Correct Answer: C

QUESTION 7

A company wants to deploy VMware NSX for vSphere with no PIM and no IGMP configured in the underlying physical
network. This company also must ensure that non-ESXi hosts do not receive broadcast, unknown unicast or multicast
(BUM) traffic.

Which replication mode should the logical switches be deployed with?

A. Unicast Replication Mode

B. Multicast Replication Mode

C. Hybrid Replication Mode

D. Transport Zone Mode

Correct Answer: A

QUESTION 8

Which two Virtual Private Networks are supported by the NSX Edge Service Gateway? (Choose two.)
A. Layer 2 VPN

B. GRE VPN

C. IPSec VPN

D. Layer 3 VPN

Correct Answer: AC

QUESTION 9

Choose the two statements correctly describing the way NSX provides integration with Cloud Management Platforms
(CMP). (Choose two.)

A. OpenStack provides integration with the Cinder plug-in.

B. OpenStack provides integration with the Neutron plug-in.

C. VMware provides open source API plug-ins for their own CMP products such as vCD and vCAC.
D. VMware provides out of the box integration with their own CMP products such as vCD and vCAC.

Correct Answer: BD
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QUESTION 10

What is determined when an NSX Administrator creates a Segment ID Pool?

A. The range of VXLAN Network Identifiers (VNIs) that can be assigned to Logical Switches.
B. The total number of Logical Switches that can be deployed in a single Compute Cluster.
C. The range of VLAN segments that can be assigned to Transport Zones.

D. The total number of addresses that can be used to assign VTEP IP addresses to ESXi hosts during host
preparation.

Correct Answer: A

QUESTION 11

An administrator enables the NSX Ticket Logger to track infrastructure changes. The administrator logs out for lunch,
returns and logs back in to complete the task. What is the status of ticket logger when the administrator logs back in?

A. The ticket logger still tracks changes until it is turned off by the administrator.

B. The ticket logger is turned off.

C. The ticket logger will prompt the user if they still want to continue tracking changes.
D. The ticket logger will display an error.

Correct Answer: B

QUESTION 12

How many Virtual IPs does the NSX Edge Load Balancer support?
Al

B. 32

C.64

D. 128

Correct Answer: C

QUESTION 13
Which feature is not supported by the vSphere 5.5 Distributed Switch?

A. Multiple link aggregation groups
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B. Differentiated Service Code Point (DSCP) QOS at layer3
C. Packet captures at the uplink, virtual switch port, or vNIC
D. IGMP snooping at layer 2

Correct Answer: D

QUESTION 14

What are two advantages for using NSX for vSphere\\'s Logical Switching? (Choose two.)
A. Expands the number of available VLANSs.

B. Allows for Layer 2 switching over Layer 3 infrastructure.

C. Distributes Layer 3 data across multiple hypervisors.

D. Provides for 10,000 logical segments.

Correct Answer: BD

QUESTION 15

Which component could be used to automate the deployment of an NSX environment?
A. A Cloud Management Platform (CMP).

B. The NSX Controller.

C. The NSX Manager.

D. The vSphere Distributed Switch wizard.

Correct Answer: A

Latest VCPN610 Dumps VCPN610 PDF Dumps VCPN610 Exam Questions

Latest VCPN610 Dumps | VCPN610 PDF Dumps | VCPN610 Exam Questions 6/6


https://www.pass4itsure.com/vcpn610.html
https://www.pass4itsure.com/vcpn610.html
https://www.pass4itsure.com/vcpn610.html
http://www.tcpdf.org
https://www.pass4itsure.com/vcpn610.html
https://www.pass4itsure.com/vcpn610.html
https://www.pass4itsure.com/vcpn610.html

